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GS-440^ t3
II Semester B.Com Examination, May/June - 2019

COMMERCE
2.6 Quantitative Analysis for Business Decisions - I

(cBcsl (F+R) l2OL4-15 & Onwardsf
Time : 3 Hours

Instrttctions : Anstuers shouLd be either in English or Kannada.
a?,rEr,-o/SECTION - A

de aeDd6od dd0d o3rodcroddn accb erud $d.riuri e,,Jd0a. {.9 erud ddad odd,r
elodrJd;.
Answer any five sub-questions from this section. Each sub-question carries
two marks.

1. (a) doaro5uodd olmdto-odcb ..rdd; aaoJ:rriddra oua.
Mention any two functions of statistics.

(b) uondalp oodded; r
What is a Histogram ?

(c) M:42, Z:4O, egdd. X ri:a:e,$.

If M: 42, and Z:4O, find X.
(d) soid aalodoj:d:" a-o6a;ro6&,1,,.

Define Standard Deviation.
(e) uo5Qoid:. dod: &6olDdd: deri z

How do you Calculate Range ?

(f) d,ddddd d,o$ eruQan ":odr ad dederahd r
Why Fisher's Formula of Index Number is called ideal ?

(g) qoduu doal5oi: obo$rrod& odd: erudolnerJrJ€ed; r
Mention an\i tvro uses of Index Numbers.

aelarl-a/SECTION - B
& ddnd oJro{o-oddn a;aeg {d*risr3 erudo.t, $e $darl egcb CIodrjdc. 3x6=1g
Anstl,cr any three of the follor,',.ing questions. Each question carries six marks.

2, & ddnd draagos:oC dcra,tO aa3odoJraba dJdddd drood dod: ac6os:0.
xi 4 6 8 10 12 14 16

f:1013222415129J Compute Mean Deviation from median.
x: 4 6 B 10 12 L4 16

f:1013222415129

P.T.O.
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3. ajd:dEd aaJe-:d anQ eodd ddrfeoddd;*dod:ao&or:O.

erodrld: : 0- 10 10-20 20-30 30-40 40-50

ecro6Qrrld doa36 : 5 10 15 10 5

Compute Quartile Deviation and its Co-efficient.
Marks : 0- 1O lO-2O 2O-3O 30-40 40-50
No.of students : 5 10 15 10 5

4. a,odc drJdd drodO da;e{ong dod: a;od addg ddq dgd €"dJd eoaro6dd arr3fld

addridr dddodo6d:
ailcbddr: 50%

d:a"doiocb :5Oo/o

a,eg d69 dgd d"dde edrddd: z 3Oo/o

doQ dgd {"dde edJd dJ&ddJ : L8o/o

In a sample study about the reading habit of Newspaper of people in a city,
the following information was received.
Present the data in a tabular form.

, \ 50%o were ma-le

50%o were female
3O%o were no habit of reading newspaper
18o/o were male non-reader of newspaper

5. aeedd dai dnaroooddd:. de ddnd dsaodrlsod dodo ao&og:O.
ajDctj

dqrldo eod{ Sdraeo

ega-od 324 50

arrj 31O 10

a3ddJ 22O OB

e,ro&r1 150 12

qdd dQrlS 3oo 20

Calculate cost of living index from the following data.
Items Index Sleight
Food 324 50

, Clothing 31O 10
' Lighting 22O 08

Rent 150 12

Miscellaneous 3OO 20
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6. Ednd dsoodrlsod a:d:e-:ddab" rbodurirouabd aoadbod dod:a&osro.
eoodrj$ : 20 30 40 50 60 70 80 90
.io-o56rrid doa36 : 40 50 ZO 90 BS 9t 89 65
compute mode by using grouping tabre from the forlowing data :Marks : 20 30 40 S0 60 ZO BO 90
No.of students : 40 SO TO 90 gS gt 89 65

aqrarl-,s/SDCTION - C
de dddod obodroddo dlracb {d*riuri erudoa. do ddari daoaep esodrldo. 3xt4=42
Answer any three questions.- Eactr question carries fourteen marks.

7. & ddnd dsoodriuod esodrls8d doadO, ilo.adod. ad:oddda3;*dod:a&o$o.
deo@d no$ : 1O ls 20 25 30 35 40 45
esd69 : 1O 25 40 50 25 tZ 8 s
calculate Mean, Median and Mode from the following data.
Centrai size : 1O lS 20 25 30 35 40 45Frequency : 1O 25 40 S0 25 LZ 8 s

* ddnd dgolrg odd: dddsridg da{ eoodrid 
BddondJd derS rbd:edogeo.

esodrid: : 20-30 30-40 40-50 50_60 60_T0
ddrl€-o T

ddrlo-a 5
Find which of the following two classes is more consistent in scoring marksfrom the following table.
Marks : 2O-3O 30-40 40_50 50_60 60_Z0
Class A Z 10 20 18 ZClassB 5 g 2L 15 6

9. * ddnd dsaodriuod &ojJdd"r6d adabdon ddrbeodai:.docd;a6o$o.
d"ndg : 0-10 ro-2o 20-30 3o-4o 4o-so 50-60 60-z0
d6Qon doa36 : 5 10 18 t2 10 S 2
Compute the Pearson's coefficent of Skewness from the following :Age : o-10 to-2o 20-30 30-40 4o-so so-6o 60-z0
No. of Persons : 5 10 1g L2 10 5 2

8.

10 20 iB
15

7

6921

10. edrq6dro daidoi$a dro6 ard:oddild rbdls,$.
: O-2 2-4 4-tO IO-2O
:26825

from the following data and
: O-2 2-4 4-1O tO-2O
:26825

dedd
wc3.n6efirid doa35

Draw a Histogram
Wages
No.of Workers

20-30 30-40 40-60
40 .30 20

hence locate the mode.
20-30 30-40 40-60

40 30 20

60-70
B

60-70.
B

P.T.O.
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COMMTRCE
2.6 Quantitative Analysis for Business Decisions - I

(CBcSl (F+R) l20l4-15 & Onwardsf
Time : 3 Hours

Instntctior?s : Ansraers should be either in English or Kannada.
a?,rorl-o/SECTION - A

& aerori0od dd0d oiro$croddn accb erud $d*riuri erud0a. {o uud dd.d odd>
erodrJdc.
Answer any five sub-questions from this section. Each sub-question carries
two marks.

1. (a) doam6uodd obod;o-oddr odd: u-ooirridd:a etra.
Mention any two functions of statistics.

(b) esoidal$ oodded: r
What is a Histogram ?

(c) M:42,2:4O,egdd. XrUO:eA.

If M:42, aad Z:4O, find X.
(d) &oid aaSe-:do3:dla a-o6aro5&,i,.

Define Standard Deviation.
(e) uo6QoJcab. dod: &6obdd: deri r

How do you Calculate Range ?

(0 .ldo6ddd dro$ eruQan oodr ad dederohd z

Why Fisher's Formula of Index Number is called ideal ?

(g) Eod{ doal5cri oln$ooCdt "ldcb erudoJ.nerJrided: r
Mention any two uses of Index Numbers.

aelorl-a/SECTION - B
d€ ddnd oJ:ro{rcraddro nneg Sd.duri erudO,t d€ ddarS egcb eoodrJdo. Bx6=1g
Ansu'cr any three of the following questions. Each question carries six marks.

2. d€ ddnd d:aao.go$od doado aa3odo.iab. drdddd drnod dodl &AosrO.
x: 4 6 8 10 12 1,4 16

f:1013222415129,' Compute Mean Deviation from median.
x: 4 6 8 10 12 14 16

f:1013222415129

P.T.O.


